Unknown Symbols in Equations (C)

Name: Date:

Determine the value of each symbol.

=71 A+6=1
42 - D=7 4=4-+v
& =42 1=8=+1
® =48 =8 $+=3=7
56 —e =17 5=464-+5
35+-5=/4 A=6-:6
9=6+8 24 -1=4
5=15+U 7=63+-0
42 -0 =7 O+7=6
10 -4=5 *+7=7
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Unknown Symbols in Equations (C) Answers

Name:
Hm=-7-=-1
=
42 - H =7
P =
=42
& =
X =48 =8
R =
56 —e =17
o —
35+-5=/
£ =17
9=§+8
§ = 72
5=15+uU
U =
42 - =7
o =
10+4=5
ﬁ:

Date:

Determine the value of each symbol.

A+-6=1
AN =6

4 =4 =V
v=1
1=8-+14
1=8
$+-3=7
O =21
5—¢-=-5
¢ —25
hNh=6-6
h=1

24 -1t =4
T=6
7=63+O
g =
O+-7=6
O =42
*-7=7
Y = 49
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